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First Year (T.D.C.) Sciénce Examination, 2018

COMPUTER SCIENCE v
(Problem Solving Through i 5 Programmmg)
Papersik 5w & Traw vein

Time Allowed : Three Hours
Maximum Marks:50: - a0/

PART - A (@vUs- 3?) [Marks 10

Answer all questions (50 words each)

All questions carry equal marks, v
2108171
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PART - B (@us-9) [Marks .25
Answer five questions (250 WotdS eadh).’ (i)
Selecting one from each unit. All questlons carry ?qyal marks.
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PART - C (@U=-8) ¥ " [Marks : 15
Answer any fwo questions (300 words each).
All questions carry equaPiarks! °1  ( 7 )
i Y T RIS | S e 1 IR 300 Yl & 1fereh 7 2
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PART - A
(@us-1)
1. Answer the following questions :
Frefafaa et & s e
(i)  Whatis variable ?
AR 71 2
(ii) Whatis global variable ?
el ARTEe T 72
(i#ii) Define program.
T 1 gReifia s
(iv) What is function ?
TR T &2
(v) Whatis pointer ?

g 87?7
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(vi) Whether structured programming helps in reducing
errors ?
TFIS U fFg A% | error g HT §?

(vii) What is an expression ? How is an expression differing
from variables ?
TRV 87 T fRE ale ¥ dfee @ fim
82

(viii ) Explain escape sequence character in C ?
TEHY T i 37 C i THEEd |

(ix) Whatisanarrgy?
Array 31 82

(x) Explain dynamic memory allocation.

Dynamic memory allocation ! THEY |
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PART - B

torbot m 2qlad gnimosizolg bowtowtiz wodisdW  (iv )

Fr ey
SRS

(sarré I)

‘,:,‘}«;:,‘,r.- fiB 21 WOt b v 814 1 S S 21 380 VY \ v )

2 - D1scuss the role of control unit in computer system 3
FXR Ty # Fge g ﬁ 'iﬁr:m ﬁ ST S |

:{3'.’ What’are the dlffe;'entvseconda;' storage dev1ces ? Elaborate

on any one of the devices. 5

- H wad | »

(3&T3-11 )

4. Define algorithm and ﬂow chart ; 3 5

goitsoolls viomom strsavb nislgxd
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2 erte ,ana}goguhmandﬂqwd)aart, Qﬁ.zflﬁ%d,;ghee,ayevagﬁ'ef '

numbers. >

e st T  average of i, numbers T FRE

6. Differentaite actual and formal arguments with respect touser

defined func 5

Actual and formal igg!sggc{tﬂ tg)_,&ﬁpgieﬁngd_fmctjpns |

o Ng Gif zinain

R TR |

5t

TrosiDistingnish between, agkies, SRAAIOR i fFfpigrencine

operator. 5
D - THAY
Address operator @R dereferencing operator T IR T |

'F,(-,-,.-.E

UNIT v

) i 5 o at ¢ -
sonsoriinniz ol 21 I8V 54

(535I§- : Jigasl gaUMSIZON]

8. Explam storage classes m,detaﬂ - = 5

i hOaMmmod 10222201971 ST [ gmmmergolqg

Storage classes 1 fIeiR ¥ TwaEd | <% Br5w
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9. Write a program for finding minimum element of a given array.

5
Finding minimum element % program % 3 array S|
UNIT -V
(3TE-V)
10. Differentaite beween text files and binary files. : 5

- Text files 3k binary files & a1y IR |
11. Write a C program to append the contents into an existing

file. 5

C program %Y existing file | append the contents fafigd |

PART - C
: (@vs-a)
o 12. What is the significance of preprocessor command in C
programming language ? Uz
& programming language # preprocessor command T 7
wE™ 2
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13. Define a structure for an Employee having EmployeeName,
EmployeeCode, BasicPay, DearnessAllowance, HRA, PF,
GrossPay, NetPay take an array of 10 Employees. Write 'C'
functions to :

(a) Accept data for EmployeeName, EmployeeCode,
BasicPay for all the employees.

(b) Compute :
(a) DearnessAllowance = 50% of BasicPay
(b) HRA = 20% of BasicPay + DearnessAllowance
(c) PF = 12% of BasicPay + DearnessAllowance
(d) GrossPay = BasicPay + DearnessAllowance +

HRA

(e) NetPay = GrossPay — PF

(c) Display the name of employee who has highest

GrossPay.
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~ini(d) - Compute and display average riet pay.’”
' (€)' Display list of all ethplogieed it the alphabetical arder

of employee nattie.” " 3

14. Write a program to illustrate the usage of pointers to

boDsavoigmd dnskivavolqmi 10t sish 1gsosA (s)
structures. 7%
& _“.vn""qFHJW H .;.g?:"i"’ y‘/q," "{1
Pointers to structures %t program ¥ g yoR w’m foran St
M 0, (8)

%?f?if@'&l

so(] l\ 2}

S

= Q0N8WO }I A&z

15. Each recursive ﬁmctlon call either solves one part of the

sonswoll Azzomesdd + vedoizgH 1o o905 = ASH {d)

Problem or reduce the size of the problem '-Justify this

sonswollAczemgsd + vedoizafl Yo 0981 = 49 (o)
statement wrth the help of programmmg example. 72
vwolihezomas@ + vedoizad = vedaecid (h)

16. How does union dlﬁ'er from structure ? Write a C program
ASITH

to illustrate advantage of using union inside structure. 7%
39 — v8922010 = \'x,‘iw’l (9)
seodgid esd ordw ssyolqms Yo smsa odi vslgeitd (o)
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